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201 LByl 10,000 0 10,000
| 10,000
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= 425,000
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= 3,171,575
301 LerE Az 3,171,575 3,171,575
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ORASE BF DEASH
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02 QI2tFAB X 30,000 20,000 10,000
OsdE A{siAl & 2AtE K& 30,000
SNERSAMY F& 60,000 60,000 0
402 SIZ2tXHE01A 60,000 60,000 0
01 QI2tXIE2E X 60,000 60,000 0
OsdtE ItsaE Eotera K&
1,500 =100, 000 0H *40% 60,000
HEMKNFSHEH 45 =4 835,007 837,160 N2,153
307 QIz2to| A 64,350 97,500 A 383,150
08 OIXI2 &2 64,350 97,500 A 33,150
OS-APC SIIEXH OIXIEHN
990,000, 0003 *1JH A %6 . 5% 64,350
402 QIZ2tX=201A 763,657 739,660 23,997
01 QIZEXE2E X 763,657 739,660 23,997
OS-APC =otetA X & 372,960
— AFDF(5kg) 940& =150, 0000H *80% 112,800
— AFDF(10kg) 1,750& 60, 0000H *80% 84,000
— AFH(15kg) 1,950& %60, 0000H *80% 93,600
—E0E(10kg) 8603 =120, 00001 *80% 82,560
OS-APC AMEME> K& 54,697
— A& A MHI(8Z) 54,697
OS-APC 2&H|l XI& 288,000
A2t 80,000& *2,500E *80% 160,000
—E0E 80,000& *1,500E *80% 96,000
— =29t 80, 000& *500E *80% 32,000




SN
X XH .
S Tt

ok

20
B
2

OS-APC EBAIY X & 48,000
—SMFY SEFIfE
5,000, 000! *103] 80% 40,000
—-E22H= 5,000,000 *2Z *80% 8,000
405 THatE S 7,000 0 7,000
01 MatL2EFSH 7,000 0 7,000
ouEIIPY 7,000,0002 14! 7,000
SAZ2 SRAY X2 216,667 195,000 21,667
[ 65,000
2 151,667
402 BI2EXHZ0I A 216,667 195,000 21,667
[ 65,000
2 151,667
RCIEIGTTES 216,667 195,000 21,667
Otldsie 228 X 216,667
= 65,000
2 151,667
LIS HEXH 643 643 0
301 YBHHAS 643 643 0
10 AAHIEN S 643 643 0
OS2 MR NS BAXEA
23,8002 32«9 643
SE RN ISPl = 100,000 0 100,000
306 013 100,000 0 100,000
01 213 100,000 0 100,000
OsgaeaIz2 100,000,000 %13 100,000
SSA2 OHAE XA 14,000 0 14,000
201 LBty 14,000 0 14,000
01 At22+2|H] 14,000 0 14,000
O FaAMBEZAZY MA 14,000
8l KIHAZZAH XY AL 623,000 0 623,000
2 445,000
2 178,000
402 BI2EXHEOIA 623,000 0 623,000
2 445,000
2 178,000
01 QI =X 623,000 0 623,000
OXNAEE AZIAH IHBAEXS
890,000, 0002 * 174 4 x70% 623,000
2 445,000
2 178,000
SIHES RSAL XA 210,000 0 210,000




SN SASD
M sAAMY A5
Sel sS4 RERT KA (ol @2
SH-EH . S2(30) - MRAY - BES O &F 24 e HRE2
= 150,000
= 60,000
402 It XHE01H 210,000 0 210,000
& 150,000
= 60,000
01 BIZFGEEXR 210,000 0 210,000
OsttE2 EotXE2E H2MHE0 XX 210,000
= 150,000
i 60,000
==AMF WIIKKE 1,310 0 1,310
= 393
= 917
307 QI2t0IA 1,310 0 1,310
= 393
= 917
02 QltaaE XL 1,310 0 1,310
OalEZs+& WIIKNESE K& 2,620,000 *50% 1,310
& 393
i 917
HE2IZH (=P ASED) 30,888 39,064 A8,176
Jl=2&Hl 26,688 34,864 A8,176
Jl=23| 26,688 34,864 A8,176
201 ety 16,608 18, 144 A1,536
01 AtSR22/Hl 12,368 13,712 A1,344
OsH 12,368
02 2523l 4,240 4,432 A192
Oz 4,240
202 01t 10,080 9,120 960
01 =LA b 10,080 9,120 960
ORH2Y ZUH0iHI 10,080
ol 2| 4,200 4,200 0
el | 4,200 4,200 0
203 REZ Y| 4,200 4,200 0
04 FAN2IHRFAH 4,200 4,200 0
ORN2ILRFHI 350,000& «12& 4,200




